DIbATEDRREE IRTER

#1 BB EHHEOZER

(BN 10T A2, %)

N 20244F 20254

x DL

= 2Q 1Q 2Q BT 4E [R1 301 £
7 FE 45,021  44,408] 48,287 7.3
' ERE 4,279 3,634 3,602 A 15.8
TR IES 4,174 3,382 3,250 A 22.1
(HAm) B H EhE

#2 BURHBYHLO[E - Mg DR TE B2

(BA7:1,0005 ., %)

] - HitJak 202442Q | 2025%-2Q | AL

EHN 186 189 1.5
AKIE 254 262 3.3

PRI 157 161 2.6

W (AR 149 132 A 11.5
S [HETK 79 85 6.6
77V H 76 84 10.2
TTRKILE 52 50 A 4.1

aalEs| 35 31 A 12.6

Gt (2ol ZETe) 1,057 1,066 0.8

(1E) ENFE~—2A,
(Hpm) B A B




	表1,2作業

